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5. 0 - 3 . 0 + 7 z = I 9

2-= ¥
Los 0, ¥>

a (x- to) + b ly - yo) + c (2--20) = 0
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4,0, 2) - ( 0,0, ¥> = 4,0
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is a- ¥
a- =L 5, -3,77

vi. QT= 5. I - 3 - O -

g.
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I. I = ☒1111511 cos ⊖

measure of similarity
I.7<0



I ✗ § is a vector

it's perpendicular to tardy
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11×7-711=11+711441 sin ⊖
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5=50^-2-5 E. 5--5
F. J = -2
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pointing in the B

direction



J = cut + 8 8 1- ut

F. w_ = (cut + 5) • E

= cut. B + 8. E
w w
1 = 0

= C

tow tells you how much B is pouring
in thew direction
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b- is a unit vector
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D= E
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